RAN,
N,

*

129984

Contents

Item Description Qty Item Description Qty
1 / Top Tabletop Supports 2 8 @ Nut M6 32
2 / Short Tabletop Supports 2 9 Foot 4
3 Upper Leg 4 10 Foot-Levelling Pad 4
4 \ Lower Leg 4 11 ~( Foot Screw M8*40 4
5 Long Lower Leg Supports 2 12 Foot Nut M8 8
6 \ Short Lower Leg Supports 2 13 @ Foot Washer M8 4
7 ~< Screw M6*103 2

@ Machine Tool Stand

(5 Maschinenstinder

@ Soporte para herramientas
@ Socle support pour machine-outil @ Base supporto per macchina
(@ Universeel machine onderstel

www.silverlinetools.com




129984
Mg

*

% &

=0
N i

e
B

|
.‘ 5

www.silverlinetools.com

@ WMachine Tool Stand @ Soporte para herramientas
@ Socle support pour machine-outil @ Base supporto per macchina
(5 Maschinenstinder @ Universeel machine onderstel




